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TASK 00O 0000
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o TASK/WR: OO OODODODOODOODOO
o TASK/FP: OO0 ODODODOODOODOOD0DOODOODOO
o TASK/MW: O OODO0ODOO0O0OOD00O0000OO
o TASK/TR: OO0 ODOODOOOOD0O0O
o TASK/EQ: 0000000000000

e [][]
o MPI
O00o0oo0ooooonon
A 119970 80 | Intel Pentium II 266 MHz 256MB g0 | 8 CPU
A’119990 800 | Intel Pentium III 500MHz Dual 256MB | 80 |16 CPU
B 120000 120 | Alpha 21264 600MHz 768MB 40 | 4 CPU
C 120010 100 | Power Mac G4 867MHz 640MB [ |10 CPU
D 20020 80 |Intel Xeon 2.2GHz 2GB Dual 160 |32 CPU
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START START
| I@@I%iﬁlﬁ@) |
myralnk=0 myrank=1 myrank=2
7 N A )I\jj
BCAIST
WAIIT WAIT WAIT
KSTA, KEN]; TPTE KSTA, KENI% TYPIE KSTA, KEN]; TIRIE
DO NR=1, NRMAX DO NR=KSTAI, KEND DO NR:KSTAI, KEND DO NR:KSTAI, KEND
END })o END Il)O END {)o END IIJO
GATHIER <
7 AT 7 ﬁilhjj
WAIIT WAIT WAIT
I I I

END END END END
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e [LUBCG O e 1O OMNO
A-x=0>b, Al x* = b C=LU~A

e | OUODODL
rg = 75 = C 1 (b—A-x)
Po = Py = To \

E o= 0 \
while |rp| > €|b]
ap = (ri-re)/(Pp-C7' - A py)
L1 —

Ty + 0Py
Tee1 = rr—op (C71-A)-py \
T = ri—a(CH- AT p; \ \
B = (Thr - Te+1)/ (D1 PE) |
Pri1 = Th+1+ OiPp \ \
Pii = That \
k= k+1
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